Efficiency vs P,

+0.05
o
D.

045

>
20.04
[J]

)

035

3]
0.03

0.

025

0.02

0.

0.

Ratio

015

0.01

005

.................................................

..................................

................................................

................................................

................................................

1.0

=
TTTTT

107 1 10 prT (Ge\})o3

—=— DQM_TT__original
—e— DQM_TT__VLooseNEW
—— DQM_TT__VLooseNEWS3iter

0.1

>
20.09
2
.q__,0.08
(8]
£0.07
3]
0.06
0.05]
0.04
0.03
0.02

Ratio

0.01

_____ ++
............ ﬁﬁ.i........ +++.|*++..

TTTT IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
¥ —— N N
N ——
. -
N s
N -
+ N
-
——

v

Efficiency vs ¢

0.05¢
045F;
(8] .
50.04F
035
0'03; : :
0254 -+ f- -k 0
0.02Bt- 41

015F
00

2]
2.

o
0.

]
0.
0.

0.

Ratio

2 ST P SRTTITSt SIS RN
. 0fd | s | |
1] 045,_ 4+ <~.;= 1

1+ 1+ - -
g 41| [
0.950L] :
-3 -2 -1 0 1 2 3

TP @



	Contents
	Page 1


